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1. GEW % 6 & a7
(a) A= (b) ey
(c) Foorqrard (d) Frezwg

Ans.:(c)w%ﬁ[ﬂﬁﬂﬁﬂﬁﬁ'm%ww
FHfedi o ot ¥ TRTSfa e 9w W % wEE A
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qeh geadEE of ¥ gE o 7 I e o T
FeadrEr 3 & 37 gfemrt § der 2E 91 den & 98
T Ay R an
2, ¢ Ugd WUT A ATl foRIH Rl 9T whed 27
(a) T (b) 3
(c) T (d) o1
Ans. : (b) B3 ¥ faftm avi 1 wEr W WY @9 & R
EFA USAl 2, 39 wEA & WH & A w@ 9 2
B2 gE ¥ gEwEar A w0 % o= H g 8, afe
72 B4 s @ o1 § v 4 ofes ofr @ B an E
3. El ore @t T ShH B0 o o, feew &% 9/
2 WG, wEl R Toreg =t waiT feman e 27
(a) =T (b) Teafm
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Ans. : (d) 52l ST # N @i w9 o o IR faEnl &
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(a) TF FT T (b) TS HAR 9E
(c) W& A T (d) TH FEHER
Ans. : (b) T ¥ - Al (S0 A arel) "
wﬁrmmaﬁﬂrﬂmmw%rﬁaﬁﬂﬁaﬁ
Tl gem 33 ¥ omd ot wm g 9@ @ S fRef &
AYFL FL F A F IO T F FROT I A
21 T8 AT T I1 TSR F FHOT 3N 4 2
5. HeEr it 9TeT RiE— of?
(@) o (b) @ arEf
(c) Tt @ WS

Ans. : (d) §7 T TG (F 1398~ 1518) fo=lt
it & A9fF F1e & vHAE UF #fA § R et
g R G % ge o el & R e
FaEE F T=el § o awed ¥ v e € 9
9 FR1 g A F vEed fa=El @ AgEEel’ A3
T e 21
9T (W= W 6—7) : FreteriEad getedl & g
st fere g
6. ‘'Sradt @ e o o g—

(a) T FT ITAE FA (b)  THAH =

(c) ® FA@ AT (d) FTHH
Ans. : (¢) TIH W 9T @R H 2 FH T WA @
qrer a1 AT 21
7. wu A e ad g

(a) FCH fre

(b) T

(c) W &

(d) G I9 a1 Gt S @
Ans. : (d) FY HSF g7 qeral F 74 g g A
smﬂmn
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15.
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() ™ % FIH F (d) v[=HAT F

Ans. : (¢) T5Gd FT § HF T WA & GAUT H o
ToHge A 2
17. Tora wfoal W SER 7 AT g &7
(a) 9| =N & W (b) FEn = & w
(c) BT T Fferdl W (d) I HieE T
Ans. : (b) 939 § U T FEAT A HE FaA 2 %
T =t wieEt W aeR fae ag 21
18. 'TETAT Sl TREE © Shie ST T TV &7
(a) fradi & oRwgamr () S9N SREE
(c) TAeeTRml FHA (d) ot = g
Ans, : (2) TEAT F THA Y FHT F AN @R F
g F 2
19. Tam T ¥g fou U fasweat W o faswew
T
TG B v e FHIT G, iR
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(a) TueT, da (b) =TT, SUET
(c) 3, 3TdET (d) e, I

Ans. : (¢) Tél a9 T F IULT FAG gHiAT gL, FH
T T e AF eI M o e (o) T 2
20. T dfem o [E e @ oo i)

=t ferer = T

TrfE | T 3 g

(a) fasmamT (b) wfeemEfE

(c) Faremifa (d) 7
Ans. : (¢) T& T TR F @ g¢ Ff T F A &40 g4
w9 72t ‘i e g 21 e Aed ¥ wh §
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21.

Ans. : (a) 98 9 & R A%, =6E, WE oS A
m%ﬁwwmwﬁlﬂ% FRIOTH,
T, THERA A, T, e st

22.  Trerfefas o =/aw T T rarEaTey Te 27
(a) e (b) iRt
(c) Fife (d) FEfiar

Ans. : (c) T I AT v el foe, dE,
SEEl, dEAdl, WelEl, AniRel, ST, g,
qarar, feed 21 Fiferd 2 w1 wEfaEs v 2

23, WE AT Y16 T oA it

(a) el (b) M

(c) muifeet (d)
Ans. : (b) TR ¥ F1 & Y& 21 37 F 6 5,
saAt, gfvswa, Argaf g )
24, wUETY vieg farted witau

(a) 9 (b) =f

(c) AT (d) g
|Ans. : (d) T “Fs’ TR F A FAF AT W |
25, “aniforeR’ vTee W W @ £7

(a) & (b) &

(c) % (d) R

Ans. : (c) ¥ W HA Vel F A A I I A H
oftadq A 2, 9 T FEad ¢ T s § 3% e
2T T W AR I T A9is, 9w, wifes,
i g €

26. e few MU A % Fegut @ve W fated
wmifwe, Afe ®ig Al T & A (@) 9rr = fatea
it

qfers g 9/ F A awe
(a) (b)

# M g W R W
(©) @

Ans. : (a)mwégﬁﬂ#mﬁﬁmmwﬁr

™R

27, =AY m Ay a9 § —

(a) a9+ 3 (b) = + Hf

(c) a9 + 3 (d) 9 + ff
Ans. : (b)ﬁﬁﬂﬁ%ﬂgﬂr{gﬁrmﬁ a?’ T 9, *
S HAY: G g A 7, T, fhe'jm

frerent € (e, 3,3:)‘5’13%%@“@—
o + 3 = wwiy
T + i = T
T + v = T

28, Ta=d= visg &1 o= Hifww)
(a) TEE (b) =
(c) &4 (d) Hamg
Ans. : (b) TG, FF A1 A HA & THEAE U=
£ wafF afre gan & vaEarE ve 2
29. ‘'ge'' = faem wA—
(a) et (b) fomma
(c) IoaTg (d) =

|Ans. : (b) 7 F1 faem we fawe & E) |

30. Tigar, Ten, afer R vrsg & vataarst §7
(a) S (b) &
(c) dfFa (d) T

Ans. : (c) TEa, den, wfe, dfee wdt Tier @ wEigET

T 2| yad o ord Ien, wad # 94 fEy,  #w
ad gz, @a aa &)

9T-11 : | Ffeg wdieqor
Part-II : General Intelligence Test

31. There are four candles which can burn for 5

hours, 4 hours, 3 hours and 2 hours respectively.
All of them are lighted at the same time. They
are Kept lighted till the time 3 candles are
finished. If the cost of lighting each candle is
1.5 per hour, what will be the total expenditure?
= Arratel e e @ mar wmun: 5
UL, 4 T, 3 TUS UH 2 WS ¥, N UE wmY H
T & 99F wafed fRam ren §1 3% & 39
AT dF FeATdl AT § T Ad e A=
uroafal g7 T We afe gee Sieer w
WA H @ T 1.50 U Tver @ /@ F w=
Terarm & ?
(a) T16.50 (b) ¥ 18.00
(c) T19.50 (d) %21.00
: (¢) TR FEfeEt & 4 692 7% o B Fa @
=4+4+3+2)15
=13x1.5=195%.
If a clock show time as 7 hours 30 minutes then
what will be the angle between hour hand and
minute hand ?

afy fadt ot o 7 wwra 30 fime o w® &,
=0 wua wve vd fime #t ggel % e feew
fexft =1 sior s ?

(a) 120° (b) 95°

(c) 75° (d) 45°

Ans. : (d) 3 A & T FHT = (7—?}30 %

Ans.

32.

-

=(7—6}x30+%
=30+ 15=45"




33. A dice has been shown in four different
positions as follows. Which number is on the
opposite surface of number 3 ?

T U W W YTET W@ gviEar wer § 39
o # 3w 3 & faufia wew O & A 3w

g ?

(i) (ii) (iii) (iv)
(a) 2 by 3
(c) 4 (d) 6

Ans. : (¢) TF T8 common 98 ﬁ, HH'I?!'IT?[ (1) B (iv)
H Fe ofF amEd g AT e W

B (i) 2,5,[4

%ﬁftiv)z.é.
o T U % eurn W 3 F fawda 4, 1 % fawdy 2
ar 5 % faula 6 g

3

.
td

Ram is elder than Shyam by 315 days and
Krishan is elder than Ram by 70 weeks. If
Krishan was born on wednesday then which
was the day on Shyam's birthday?

W, YATH | 315 fe7 aer & o For, TR 70

TEATE g §1 AT FO H T FHAR w g

o |t o ot ST TR o ga an?

(a) Monday/|I7aK (b) Wednesday/ el

(c) Friday/YFar (d) Saturday/T=amR
Ans. : (b)
315ﬁ=ﬁﬁﬁmﬁq‘faﬁﬁw=%wﬁw

=0

HA: T, YW a9 F97 F §9 9 TE a7 4 quaR
& 2
36.

In a particular situation 'A' is 4 years elder to
'B'. 16 years later 'A’ will be thrice of his
present age and 'B' will be five times of his
present age. Find the ages of 'A' and 'B' two
years before the given situation.

34. g'%:‘e;nany rectal;gles a;ﬂt-:ere in t;e given . :fﬁ' ES 'A'*£' a4 1::;‘ 'E"W frofr ;
& st wrqef 2 16 @ AT ‘A’ P g IHET A g
s = = =T & St @i B @t ey sEet ada
11 Wt e AT & a9 Sengd o gE
=t fafde fRufa & 2 af et ‘A’ 3R 'B' &
g = ot?
(a) 6 years and 2 years/6 @9 2% 2 =
(b) 10 years and 6 years/10 @4 3T 6 74
(a) 20 (b) 22 (c) 8 years and 4 years/8 ad R 4 =
(¢) 27 (d) 29 (d) 12 years and 8 years/12 3% 3t § a4
Ans. : (c) Ans.:(a}ﬂﬁTBﬂﬂEHxﬂﬂt%I
a b o AT W =x+4
¢ d : ¥y
(x+4)3 = (x+4)+16
¢ f . Ix+12=x+20
- J 2x=8
=} h x=4
—> Uh-Ush IEH § 7 2Fdl 3 §& =a, b, c,d, e, £ | |37 A W =x+4
g, h, i, j 374fd 10 —4+4
— A FF W T HFA PGS = (ath), (c+d), —gad
(e+), (g+h), (i+) 31 5 L AT ASRBH I =8 2q94 299
— dHF-dF el ¥ 94 W & g = (atc+e), =g 2 9%

(ctetg), (b+d+f), (d+frh) F4fq 4
— TR-ER e H A4 AT @ §E = (atctete),
(b+d+f+h), (abretd), (cre+d+H), (Fgthte) 3741 5
— UE-UE A T S emERl FOEE = (atbtetd),
(Frg+htet) 319iq 2
Tl el o e =91 =
A Fel A F WG = [0+5+4+5 +2+ 1 =27
ﬁ:wﬁ%ﬁﬁﬂ@ﬂﬁﬁ@w%aﬁﬁﬁmlglishﬁ
Rectangles (21) forar mm 21 s 7 off a1 aHet

T Fe [faFed ()] S R 2

37. A person travels from place 'A’ to place 'B' at a

speed of 40 Km/hour. While returning he
increases his speed by 50%. What would be his
average speed for the entire trip?

Tk S A" T | B ¥ ae 40 fEet ufy
TUT T T | AT FAAT & T HGHAT AT 50%
iRt drear €1 ST e & e suE
sirea wify =am ¥7

(a) 36 Km/hour/ 36 Tl gmey

(b) 45 Kmvhour / 45 f&l/avar




(c) 48 Km/hour /48 fefi/amer
(d) 50 Km/hour / 50 &1/ 8y
Ans.: (c) A€ B % 9 | FEt #1 T = 40 e

B AT 0 F At & = 40{3}&0 st e
_ 2 4060

. aftga are
40+ 60

4800

100
48 T /eeT
Six People A, B, C, D, E and F, are sitting in
two rows with three people in each row. E is
not sitting at any end of any row. D is sitting on
the left of F and is at second place. C is sitting
next to E and diagonally opposite to D. B is
sitting next to F. On the basis of given
information who is sitting opposite to B ?
Fe =fE A, B, C, D, E 37 F, &9 =afer ufer
ufvR % AR & ufEE § 48 §) B et of
uferr & o1 ® € ¥1 D, F % a1¥ 3 gE
T W 1 C, E & g § 3w D % freviaa
@ ¢ B, F w1 TSt #1 Iuded YOl &

38.

YT T B & @ & §7

(a) D by F

(c) A (d) E
Ans. : (d) 797 # faw TC g F smaR W AfFad &
i § e fread 2

”\T\F

A E C
wWE ? % B % 9@ E @m

39. A water pump has a capacity to fill water at 10

liters per second. How much time will it take to
fill the water tank of 80 cm x 60 ¢em x 50 ¢cm?

10 ez ufa T&vs & 90 § U 99 = e oy

BT 80 Bt x 60 At x 50 A W FT Fr

W o R wue e

(a) 12 Seconds/12 e

(b) 24 Seconds/24 FHvE

(c) 36 Seconds/36 FHUE

(d) 48 Scconds/48 TS

Ans. : (b) &9 &l FH = . x 9. x

=80 x 60 x 50 99 Tt
= 240000 =7 T
=240 H2X (-

iﬂtﬂm‘rw@ﬁwm=%
= 24 U

1000 &7 =1 #i=Y)

40. There are six people L, M, N, P, Q and R each

having different heights, N is taller than Q and
P, but shorter than M. P is taller only to Q
while R is shorter only from L. From the given
options choose the one that shows the pair of
tallest and shortest person in group.

B |feEt L, M, N, P, Q 3R R & & v &t
W@ AT TN, Q 37 P ¥ &= ¥
g M | Bier §1 P faw Q § e § walE R
fa® L & grer 1 e 8 9 =9 W g e
T T A B2 F WS wr £7
(a) MandP/MAIP  (b) PandQ/Pa4IQ
(¢) MandL/MAML (d) LandQ/LaaQ

Ans. : (d) TSR FfGE & 7R & E A
Q<P<N<M<R<L

T Q AW BT 741 L Wa® 7wl 21

41.

Complete the series from the given options at
(?) sign -
frrefafEa v o & W aEen ¥ woT Ao
foreg (7) v o == AT
1331, 2197, 3375, 4913, ?
(a) 8288
(c) 6859
: (¢) T 59 TR T -

1331 2197 3375 4913 06859

| | | | |

any’  ay’ a5’ an' a9y’

If a rectangular block of 4x6x8 c¢m dimension

is cut into small cubes of side 2 cm each, how
many small cubes can be formed?

fereft arrararenTs o FreeRt AT 4x6x8 HY
%, & afe 2 9t 2 a9t BR-sr ubt o
Tftafda &t faar <@, @ Fa fRa o e
w7
(a) 12 (b) 24
(c) 36 (d) 48
Ans. : (b) STIAHR AT F AT = (4x6x8) T T,
BIS O N HEET =2 % 2 x 2 = § T Gl

ﬂ ‘E{T-Iﬁ . =4X6X8

43.

(b) 7110
(d) 9826

Ans.

42,

=4x6=24

Ajay and Vijay are brothers. Ram is father of
Vijay, Kamla is Ram's sister. Prema is Ram's
niece. Shubha is maternal grand daughter of
Kamla, How is Ajay related to Shubha?
arwa 3w e wg §) ww R & e #
HEET T T WET T YW TH F ATt E g
R S AT €1 I BT I T T g7
(a) Brother/TE

(b) Maternal Uncle's Son/Fa 9TE

(¢) Maternal Uncle/AM™T

(d) Nephew,5isT




Ans. : (¢)

a5

¥

i

-mmrﬁﬁﬂ

\\\ahﬁﬁ‘h__ﬂ_—__ﬂA —
Ty A ¥ W ¢ % 9 e & oA 2 |

HHl
44.

R
ag

- y
- kR -
S~ g

In a exam 70% candidates passed in paper-I
and 60% candidates passed in paper-II. 15%
candidates did not passed any paper, while 270
candidates passed in both papers. Find out total
number of candidates appeared in the exam?
s wlem § 70% faEneff dur-1 # s+l 3w
3T 60% feramdf ur—mm # ==fof gm 15%
forameff S Twdr # argeiol gm wEfE 270
feremeff =1 T o =it g it w e
we Tt §7
(a) 600 (b) 580
(c) 560 (d) 540
Ans. : (a) T9C I # a7l famfeft 1 afrea
= 100 - 70 =30%
T 1 # argefiof i @ 9@ = 100 - 60 = 40%
ol 3Tl el & sfawd = (40 + 30 - 15)
=55%
Fa Il fenfiar 1 9@ = 100 - 55 =45%
o 45% =270
270

1 000/ —

0= —x

100 =600

45, Examine the given figures carefully and
identify the correct logical option that can
replace (?) sign.

W= # & T e § uye e

o (7) & = 9T == S ?

16 64 256
1@9 23@100 36@144
3 16 64
(a) 37 (b) 47
c) 56 (d) 42

Ans. 1 (d) 59 ¥R,
Ji+JiE+J§+Ji:10

a4qr J@+J1TG+J1_6+JE=27

I WHR,

V256 +144 +/64 +/36=42

In this question one word is given alongwith
four options. There is only one option which

46.

cannot be made using the alphabets of the
given word. Choose out the odd one-

T YT W UF Ve qAT IH WN faswen fad
T §1 O faseut § B e Ua A fased TEn
T o fedr T veg & oredl W W@ wemEm W

weRaTl 39 ferseq &t i
INTERVENTION

(a) ENTER (b) INVENTION
(c) INTENTION (d) ENTERTAIN

Ans. : (d) 7@ =2 # INTERVENTION 3R A 78 &
TUfAT 918 ENTERTAIN & 11 <7 96l 21

47.

Choose the correct alternative from the given
ones that will complete the series at (?) -

&t TR HEen #§ wyHaEs o (7)
o T UT AT STEAT?
1,5, 14, 30, 55,91, ?
(a) 121 (b) 136
(c) 142 (d) 140
Ans. : (d) 573 39 THR &

L 5 14 30 55 91 |140]

I ) N ||

+4 49 416 +25 36 +49

(N N
@y Gy @)y 6y 6y (1)

48. Two group of numbers to the left side of the
sign :: are related to each other in a logical
manner. Select one number from the given
options to replace (?) sign in the same logical
manner.

Tt yom ® fog & o 31 & 8 H@Eei %
ATET qE AR & T A@en ° yyHarHE fow
(?) & == W e fawey s ?

11529 : 72135 :: 23687 : ?

(a) 36999 (b) 47261

(c) 12968 (d) 69981

Ans. : (¢) 579 791
1+1+5+2+9=18
aqr T+2+1+3+5=18
Il R
2+3+6+8+7=26
aHr 1+2+9+6+8=26
49. Find the missing number in the following series

at (?) -
frreaferfiaa & w8 gaen o wyware o (2)
2 T OT =T A ?

49 ,3
97207 786
.17 19
(a) 20 (b) 0
.20 29
= ) ==
© 45 @ 153

9



Ans. : (b) 5@ fr=aq ¢ -
+5 +10 +20)
I [ I I
4 9 19 39
9 20 42 86
I | 1 | | |
+11 +22 +44
50. In this question four words have been given out

53. For the year 2016, which Indian player has

qualified for boxing in Olympics?

ToFE wedE fgandt 3 a9 2016 1 AT
Wi § aiferT & #g Araar ued w87
(a) Devendro Singh-%ﬁ%ﬁ fog

(b) Vijendra Singh/fs= fifg

(¢) Shiva Thapa/f¥rar gmar

() Dinesh Kumar/R3r FHR

of which three are alike in some manner and
fourth one is different. Choose out the odd one-

30 gy | fod T = fawedt § ¥ fi= faaew
feher w9 | Fef-era §1 39 vieg &t I S
T E —
(a) Acharya Kriplani/zT=md Saart
(b) Dr. Radha Krishnan/T. T8I
(¢) C.V.Raman/dt. &1 7
(d) Rajagopalachari/TSTIAETERT
Ans. : (a) 3= FIAHT & Sisdt v ot A

Ans. : (¢) 9E faerdt fmar g 7 af 2016
Ee S § W T g e | #5g

54.

Who preceded Chakravarti Rajagopalachari as
the Governor General of India?

=rehadt W Ud WG & MEAT
AT A a7

(a) Lord Mountbatten/eTg AE~Za2

(b) Lord Irwin/a@E

(c) Warren Hastings.-’ﬁﬁﬂ e

(d) Lord Memo/@Tg #40

G T faar T 21

AET-111 : |rE= 7=
Part-I11 : General Knowledge
For the year 2016-17, in terms of defence

budget, what is India's ranking as compared to
other countries of the world?

fawa o o 2016—17 & 8T T U AR H

51.

fafir= Zoit &t g o e o T 87
(a) Second/ZHI (b) Fourth/=er
(c) Fifth/ar=at (d) Sixth/@ar

Ans. : (b) T 2016-17 ¥ 39 T9 F T T9 OB
ad F g § 9.7% W, I’ F E, W IR 97

Ans. : (a) T TEEEeA (T WiRHE Twme e

frae) @HT 9Nd & Yed 99T Wehedl UsOgIerE &

T4 ARG F TR TR 41 aRA fRET Sma & owew

T ST |

55. What is the percentage of TRON, in chemical
composition of earth?

geft #t @A § Wt e ae (IRON)
&t feRa=it wr gt 872

(a) Approximately 20% - 22%/@THT 20%-22%
(b) Approximately 25% - 27%/THT 25%-27%
(c) Approximately 40% - 42%/TTHT 40%-42%
(d) Approximately 32%-35%/@THT 32%-35%

fafi it it ga § 63 =W | F wWH FW (49) o
ATl FAeT € 6 ¥ 2017-18 % @ Fee § g a€ &
qa # 6.2% Ft gfe F 7, | Fror wwa fafm 2w
F g & 54w 9w e @ 9 2016-17 # @ swe
& fC 2.58 @M@ S ¥4 a91 2017-18 & W I9 &

Ans. : (d) I F HET O ST (32.1%), ST
(30.17%), Tfasm (15.1%), FTHTaT (13.9%), T
(2.9%), fFfEFa (1.8%), Ffeeam, Togdif=m 791 39
I 7 9E W 2| GTEEA W ISy T F
SRR Y # o T § oA 47% eieded 2

foIT 2.74 @FE Fie w99 F TEYE FHA T@T E
52. The Second Battle of Panipat was fought
between-

urftaa = fyefta g formen fter eret TTar ar?
(a) Babur - Lodhi/aet — @it
(b) Akbar - Hemu/#7&a — 39
(c) Ali Raja - Chandragupta Maurya/
el T ~ S At
(d) Akbar - Lodhi/s/a% — &+

56.

According to population census 2011, what is
the population density of Uttar Pradesh state?
T 2011 W FEOEAT F OAUAR W IE-HSI
T &l FAGEAT T w4 §?

(a) 661 Per Sq. Km./661 Sfa & fpeirdies

(b) 573 Per Sq. Km./573 ¥ & fraide

(c) 828 Per Sq. Km./828 ft & fheiidfiex

(d) 785 Per Sq. Km./785 Sfa =7 farainiiey

Ans. : (b) T & fadm g8 5 TR, 1556 5. @
AFTH 9F AR W F 91 By I 95 T
fasifee (29) o qnat aesTE STEeR F WeA gar oan
5 T INEE GO T F T A T @ ar A 35

Ans. : (¢) 9 2011 F¥ FFI9MT & AUR T AL G
o & TGS 99 828 At Wiy @i fpemdiet g1 1
fFamet # &F%d § © a AfFEE S §En &)
G 99 Tl ST 2

AtE § ©F I T W9 F FOO 97 A G A3 ST
& HEE 9w @ § P F R Sk war o adm
g & fadtE g S o

57.

What is the percentage increase of amnual
budget estimates of Uttar Pradesh for the year
2016-17 as compared to the original budget
estimates of Uttar Pradesh for the year 2015-16?
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IO YT T K a° 2016-17 T AMEE T

I A6 2015-16 F ATEAER TAHE

T qorT § feRer Wit tfereR gar &7

(a) 20.12% (b) 18.60%

(c) 14.61% (d) 12.10%
Ans. : (c) I T2T TF F G4 2016-17 1 dlfis Fwiz
AR A 2015-16 F ARAEEF TIHE AR F AN H
14.61% @ g1 &1 9e ¢ % o 72w &1 2018-19
ggﬁmmﬁaﬁﬁ%ﬂﬁaﬁaﬁwﬁ 11.4% =t 3%

|

58.

What is the radius of earth?

goeft 1 erefeama fefemT 82

(a) 5999 Kilometer/fFiiizt

(b) 6371 Kilometer/ ezt

(c) 6990 Kilometer/ ezt

(d) 9066 Kilometer/Fardzt

Ans. : (b) 95T T2 ¥ T0 F FW A dU adql AFA A
5ot 91 7 2| o7 7% I IUMET ¥ q¢ THAH T I
g, o W sfimT wwa 31 so fayeda frem 6378
fpeifier @1 ydim B 6357 fEanex 21 g=h &
sitga B 6371 fRariex aa1 Fa &A%a 510100,000
7 fat 21

59.  Which district in Uttar Pradesh has the highest
sex ratio?
I We¥T T ¥ frm smue # fem sgura
wer sifiren &2
(a) Azamgarh/3ATSHTE  (b) Deoria/3aa
(c) Gora.khpurf"ﬁ“(@gi (d) Ja,unpure'ﬁa':rﬁ”(
Ans. : (d)
I U1 T & frer g
TS 1019
At 1017
TET 944
SR 1024
60. 'Who amongst the following has never served as

Governor in the Uttar Pradesh state?
e § & fre 39T WeYT TS W TSEuTer W
e Heft Tl duren?
(a) Sh. Chandra Bhanu Gupta/4t 5= A1 Ter
(b) Sh. H.P. Mody/4t w=. 1. A1t
(c) Sh. Kanaiyalal Maneklal Munshi/

& FRareTa AfvReTa TR
Sh. Burgula Ramakrishna Rao/
A e T T
Ans. : (a) &t gAgsl gATEm W (1945-1952), o
FredTed W @ T (1952-1957) @4r A qen
TIFWT T8 (1960-1962) I W29 & TG & % 2|

(d)

Poorna Swaraj Resnlutionfﬁ[?‘f HUS AT
Quit India movement/ 9T E‘?TET sre
Dandi March (Salt March) movement/
=T A (T TEEE) A

(d) Khilafat movement/faeTsa s<iem
Ans. : (b) ‘T o1 T H AN HEAT M T 9T Bret
H<ied & gAd Rar a1, fSes o, 9 & Sear 39
F AE F R T T OEA AT A= F
A 8 o, 1942 €. 1 sfae WA wEE # §IE
s & marferar 3% § gf ff o F9 deE F 9@ 9w
BIS! A=A & SRR F @ T 9 3Ted H 9 A
& ‘STRYE S St F ded HIW F AUl Aed &
e 3 frar & foan afa 9ma oiet o= F 8
TF U, FiF 39 ARG F 99 WG F TAF Tq0
e & 4l
62,

(a)
(®)
(©)

When is the "International Women's Day"
celebrated?

“ st wigen feew’ e wTET S @7

(a) 8™ March/8 ard

(b) 8" August/8 eTE

(¢) 5" September/5 AR

(d) 9™ November/9 FawT
Ans. : (a) ‘T Afeen fEw v af 8 AE #@
forgd o # 9T S | SHE Se5Yd HiRans & I
weens’i B A" FH & BT 2 R aResd # T
At o o s9s w9 B )
63.

Which planet of our solar system is also known
as 'Red Planet'?

Torg w2 &1 ‘T W' & A A off 1A e 872
(a) Mars/H7Te T8 (b) Venus/IF T8

(c) Mercury/ 99 38 (d) Jupiter/g%afd T8
Ans. : (a) 1 7ved § oa 72 g4 @ gft F o4 & e,
AFR H WOl FA9 A% W gl T T W SR
HiFaEs F1 AHA F FOT 9 § I W sEEl ofF
ot fradt @ e ST 58 e 7w i 81 e
TE B GE F AR F W F f 5 S 2

64.

‘Who was the founder of 'Arya Samaj'?

" garel woT ' R eaAT feRE @ oft?

(a) Raja Ram Mohan Roy/TT_T 1 Higd T
(b) Swami Vivekanand/ =Tt faesm—=

(c) Swami Dayanand Saraswati/

T IR e
(d) Raja Radhakant Dev/Ts THTEd =8

ot T WY T S R &F TATA FH A @
61.

For which movement Mahatma Gandhi gave
the slogan "Do or Die"?

& Teru wgrenT wieft grr =T 4w
T A T T ar?

Ans. : (¢) @ @AF= GOEd A 3E HAE & ST
aier, 1975 # g=d § far a1, fige s afs o
F YE T F NG S, 9°G F AfEE G F
ToHfaE ®9 § UE T A AEAT 91 qEe S9E 5
TG T AT
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65. In which year, was Urdu declared as second

official language of Uttar Pradesh?
IW WouT U ° 3¢ @t fyedta v wa
witfera feram Ten?
(a) =9 19867 (b) %1982
(c) 19807 (d) =1991F
Ans. : (¢) ‘I LU VIGHE 9T HuweA  afufEm,
1989’ %mwﬁwwaﬁmﬁﬁ@fr
T A T
66. Which place out of the following is not related
to productmn of steel?
frer ¥ & B o T =i Tmior I et 765 E?
(a) Jamshedpur, Jharkhand/SH3ERR, gRa@rs
(b) Burnpur, West Bengalfa:fE[(, af¥em =mre
(c) Jharia, Jharkhand/fn, FRETS
(d) Durgapur, West Bengal/ZME, Uf¥=m e
Ans. : (¢) 9T, Aw@vE TS F UE WL €, S FHFAl
IMEA % fQ S S 2

67. 'Which Lokayukta of the following in Uttar
Pradesh has served the office, for maximum
period of time?

v waur wea # e ¥ frw drege @t
T eRTeT WeAlTerer e £7
(a) Justice Mirza Mohd. Murtala Hussain/
=g fosf dewre gfer g
(b) Justice Kailash Nath Goyal/
=raafd Sere g e
(c) Justice N.K. Mchroha.’:ﬂﬂ'{ﬁ QT-I% e
(d) Justice Sudhir Chandra Verma/
=l e =
Ans, : (¢) 3T TS & 5 waffee avar s
=i UL %, qEE #OE, S 16 W, 2006 ¥ 30

aﬂafrzomﬂfﬁqzwaﬁﬁlwra{ﬁ T g
1983 & 99 1989 T, %ammamaé 1989
# a4 1995 7 a4 g == Fat & 2000 |

69. Under the "Kanya Vidya Dhan Yojna", the

Government of Uttar Pradesh awards the
motivational prize money, after
clearing/passing which class?

) g A’ % e 39T weer
TOEHT FT | e § 3=l 29w oremme
B Ay & et #2

(a) S"/di=aT Fe (b) 8™/aT2T Fear

(c) 10%/5dt en (d) 12%@rEEr Fa

Ans. : (d) F1 0 o9 990 % SR SO 99
wm@w@mw@ﬁmﬁwmﬁaﬁ

T & S 21 R e A # yEeT 3w
uﬁm et ot gy fig aea 4 9 2012-13 #
& foEar 4 fed am sEei @& 30,000 . # wEOi
m-:m F T At 2013-14 F 7 o=l w1 F 20,000
F O T FAAE H YR ER 5 T A % dwd
mwmﬂﬁﬁwmﬁaﬁamﬁmmﬂmﬁmw%
70.  Which of the following hill station is located at
the hgheql fmm the sea level?

wedi T w HEE wE a9
H Ford afrn £7

(a) Darjeeling/@fS T (b) Ooty/&e!
(¢) Shimla/Rraer (d) Dalhousie/Sears

.1 (b)
TOZ 9 | HeTg (HeT 1)
Frfsfem 2050
= 2240
e 2202

TRt 1970

On recommendation of which of the following,
the provisions for fundamental duties were
added to the Constitution of India?
forer & @ fobm = &t wegfe & smamw W oOe
Hdsl o WEUT WAL S O & Siae
T wrgT T °ar?
(a) Balwant Rai Mehta Committee/

FeEa TF Hedr afefa
(b) Swarn Singh Committee/ 0l fifg Wl =1

71.

68.  From where has the national emblem of India !
been taken? (¢) Iyengar Committee/3TETE Tfafy =
e o1 g Fog et o foran wem &7 (d) Thakkar Commission/3%HT A i
(a) Bodh Vihar, Gaya/Ta1 fta aitg fer & : (b) TR W e A B A b AR W
(b) Kolkata Museun/STcishmar g dogea & ‘Iﬁ m—;faﬁ U gEtad SEYEl B 429 g9ied s
(c) Patna Museum/YeT f29d @ & 1976 % &0 ARA 3 HAw § g1 TN FwEd T Fea
(d) Ashoka Pillar, Sarnath/ Sfafy daradt o% 9, swEw et S g F g
e Red Sy @ 4 F A I ST S T EEEE & W E
Ans. : (d) 9T & UPFIE GRA19 97 SIS @R H|[72.  Who has been awarded OSCAR 1n the year
form T 2, S GRAIY 3 GerEd o R HEELED el 2016 for documentary film cate%l
@ # A fifz 3, 9 uE oW @ e ds e gu Y 2016 § TALE gafus St form 3 aife
TF A 6 AWK & W UH U dead d 0w v feRa?
T, St W gen us We, UF fiE a9 o 9 9 (a) A.R. Rehman/T. 3T AN A
mgﬁﬁm%@ﬂwﬁwmﬂwm (b) Asif Kapadia/3f® Huifean &
W & SR &1 o =% T geN &1 WRA TR 3 (¢) Deepa Mehta/&rTT g
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Ans. : (b) 99 2016 ¥ TEI= guf o fopeq “wrf’
* forg ‘snfas wmafear g Seg-a-dw St wem Rear
i

73.  Recently Samajwadi Government in Uttar

Pradesh has approved an increase in monthly
pesion for oldage citizen. What is previous and
rewsed _£ensian amounts?

HATSATE WY T IO 09T W9 H
qara‘m Yo W aAdr fRaT | @@t
fepa=it =t T §7
(a) ¥200 to3 300 per month
T200 § 300 ufa =g
T 300 to T 400 per month
7300 ¥ T 400 9T 7
T 400 to ¥ 500 per month
T 400 § T 500 5fT A@

T 500 to T 600 per month
7500 § 7 600 ¥ A1E
Ans. : (b) T & F IR TG T9T H THSEE] GEHK A
ST YT F 9URT F 300 T W T F 400 T W G
) e g fF @ el fvm A & efdla gen
o & w1000 & F & 2
74. For the year 2015 who has been awarded
'Arjuna Award' for the National Game of
India'?
ad 2015 1 WNA * U@ @ F o o
R TR fem an?
(a) Sreejesh Ravindran/f5=rer @i
(b) Abhilash Mahatra/3f¥arer e
(¢) Babita Kumari/afermr ﬁ?ﬂ]ﬂ
(d) Satish Sivalingam/Farer fFrafem
ns. : (a) T 2015 F 977 F 7T T (FE) F A0
{7 qrEER e e R T 2 st wH

(b)
(c)
(d)

Which of the following pairs is incorrect?

ot & B 1 gfew T8 87

{a) Baburnama - Babur/s={-H - =L
(b) Shahjahan nama - Mohd. Taahir
YRSl A - HEWE Alfet
(c) Humayun nama - Humayun
g A - g,
(dy Tuzuk-e-Jahangiri - Jahangir
TAH-T-EM - SR
ns. : (c) ﬁﬁﬁ“’l’ﬁ z-
EICTeEIEl] - EIEES
TR AR - HEWE e FEd EH
g A - TeeE A
&R - RN

76.  Article-368 of the Constitution of India deals

with-
AT HiAU & HTePE-368 & A fRew #7
(a) formation/establishment of
Commission/fa9 &M & 77 9
process of Constitution amendment/
Hfrer Seys wiEar ®

emergency regu].dtlonﬁTI‘QTﬂ?aTEﬂ“-T I T
formation/establishment of Election
Commission / fraf== smgim & maq &

Ans. : (b) A TEEA T 368 F GG WiEHE
i 3 F TR A o I T A 2

77.

Finance
(b)

(€)
(d

To select the entire text in a document in
computers, which keys should be pressed?

forelt droget § wA- o weeeT gl e

F mogui arrerE w1 e e e 7
(a) CTRL+K (b) CTRL+A
(c) ALT+F5 (d) SHIFT +A
Ans. : (b) 5t Feger § 'CTRL + A’ o1 o &
eyl aerE & 949 AT T
78.  What will be the decimal equivalent for binary
number 1011?
ATEt HEAT (Binary number) 1011 &1 9THEE
TSR AT T2
(a) 8 ® 9
(c) 11 (d) 15
Ans. : (¢) T T 1011
= 1x2% + 1x2' + 0x2% + 1x2°
=1+2+0+8
=11
79. Which one of the following options is not

associated with computer system?

frefarfaa § & o wwogeT woneft & gt

e 27

(a) PPP (b) FTP

(c) URL (d) EPF
Ans. : (d) PPP (% T2 ¥Si2¥M), FTP (F1d 2160
FEe) a1 URL (e Rad @mey & day
FT YTl § 21 EPF (FH9d afys faftn) & ey
FOATT JOTA F T 21
80.

Permanent Memory of a computer is known as-

foet @wgex ® Permanent Memory T
Tl 87

(@) RAM (b) CD-ROM

(c) ROM (d) CPU

s. 1 (¢) ROM (Read Only Memory) U HUEHI [
mem ¢ e wEm Fge A e st
suFwi § fFA S €1 ROM F72X # Permanent
Memory @1 RAM (Random Access Memory) FiFrgel
F eTeE AER Bl 2
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